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BHHENo. 22 BF 100m #HkE F=E 84 SR E 53.58
_ _ KECER 54. 64
G  #/k I B K 4 S E-3 F FOER (RT.)
50m
1 17/ 4 #RIl A EHE BE IS 97 =3 27.76 56.65 ( 0.54)
2 6/4 B £ AE BX BEXR 97 =2 27.68 56.69 ( 0.62)
3 8/ 4 K Br it Bif m{EBREE 97 =3 28.10 57.06 ( 0.55)
4 8/5 & E g & AEZHE 97 =3 27.80 57.21 ( 0.54)
5 6/ 6 #HE)I $HAZE—ER AR T KRt 96 =3 27.47 57.25 ( 0.48)
5 775 X PR KE % RE KIS 97 =2 27.74 57.25 ( 0.61)
7 8/3 B E N EE Hm 98 =2 27.76 57.26 ( 0.56)
8 6/ 5 ME)l ML #H%FE #AR T Kkt 96 =3 27.85 57.32 ( 0.60)
9 /2 %8 [ E&QO ES] SRR 96 =3 28.17 57.58 ( 0.55)
10 8/ 6 K BR ZEHN MTF {EBRZE 96 =3 28.29 57.64 ( 0.57)
11 /8 K Br /MAHE—ER LU 2R 96 =3 27.86 57.68 ( 0.51)
12 /3 % %1 B Bt FRAPER 97 =3 28.03 57.75 ( 0.53)
13 5/ 0 B R FEFIi#EKER INEF 97 =2 28.29 58.09 ( 0.53)
14 6/3 LU 3 H N BB R 96 =3 28.49 58.13 ( 0.54)
15 6/ 2 *ﬂ H X5 #t BERRT % 96 =3 28.24 58.20 ( 0.58)
16 1/ 6 e Ix # B KXW 98 =2 28.16 58.21 (0.57)
17 8/ 1 $$,TJII HFHEZN R ZE 96 =3 28.48 58.36 ( 0.58)
18 5/ 6 &8 & € & BX®EI 97 =3 28.41 58.48 ( 0.48)
19 31’ IR BEdBZN BXEZL 98 =1 28.48 58.52 ( 0.59
20 8/ 1 K BR AL FF— T £ KBt 98 =1 28.21 58.66 ( 0.53)
21 5 4 ® R FRKIER XR 96 =3 28.70 58.73 ( 0.58)
21 8/ 2 K ® RAJIE—E BH 97 =3 28.47 58.73 ( 0.61)
23 6/9 & M WX ZEI 2 98 =1 28.49 58.77 ( 0.49)
23 8/ 8 F Il =M R#BX EBFE— 97 =2 28.43 58.77 (0.52)
25 6/0 E E HaOEH REZE 98 =1 28.66 58.81 ( 0.63)
25 /71T K B FH KRE R R 97 =2 28.42 58.81 ( 0.49)
27 5/ 9 B R LLEMEEMH% BHAZE 96 =3 28.44 58.82 (0.52)
28 36 F E UT HRs=E FEBHKMT 98 = 28.49 58.92 ( 0.51)
29 40 8 M EH XM FLERAM 97 =2 28.90 58.97 ( 0.58)
30 7/9 I B KT X PN ETHES 98 =1 28.66 58.98 ( 0.52)
31 6/1 K Br 1EFH 8K m{EBREE 97 =2 28.81 59.00 ( 0.63)
32 52 F E M EH RRFIZ R 96 =3 28.89 59.02 ( 0.61)
33 8/ 9 MEN #FHIE N BXE 96 =3 28.66 59.06 ( 0.57)
34 6/7 % & & BxR VIR 96 =3 28.52 59.07 ( 0.59)
35 /18] R A BE BREEXE 96 =3 28.40 59.13 ( 0.53)
36 70 B E k% EE B 7 2 e 98 =4 28.59 59.17 ( 0.50)
37 3/8 B E M@ = BEFR 98 =1 29.04 59.20 ( 0.61)
38 5/ 8 B E QL B XE 99 =1 28.61 59.25 (0.57)
39 49 & E AR EE Giall! 96 =3 28.85 59.32 ( 0.60)
40 2/ 4 8 [ M EE EX R 98 =2 29.19 59.33 ( 0.62)
41 4/5 3 B KRk @K AH 99 =4 28.81 59.39 ( 0.52)
42 6/ 8 K PR #BE B\EX AB¥REAES 97 =2 29.21 59.50 ( 0.54)
43 51 8 B B8 B0 ] REES 98 =2 28.56 59.55 ( 0.56)
44 3/ 9 K BR KRMAAER BRI ZERE 96 =3 28.69 59.57 ( 0.59)
45 4/ 2 BRIl Ek @K ERZ 97 =2 29.15 59.61 ( 0.48)
46 5/ 3 B ® R WX ME RS 96 =3 28.61 59.66 (0.57)
47 35 &% B MK ##Fm Xz 97 =2 28.42 59.73 ( 0.53)
48 8/ 0 W # kA W4 B 96 =3 28.68 59.84 ( 0.54)
49 3/3 E. B thTF ZE— =I5 97 =2 29.24 59.88 ( 0.55)
5/ 5 M_32 T AL BR BX— 96 =3 28.90 59.88 (0.52)
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BHHENo. 22 BF 100m #HkE F=E 84 SR E 53.58
_ _ KECER 54. 64
G  #/k I B K 4 S E-3 P FOER (RT.)
50m
51 417 B E KRAREK i EIE 97 =3 29.36 59.91 ( 0.59)
52 4/ 8 K BR #H K = 98 =1 29.13 59.93 ( 0.51)
53 4 4 BIRE E@A BF R B1EHR 97 =3 28.75 59.95 ( 0.51)
54 4/ 6 10 2 Ik Ht KIRELGRER 97 =2 29.21 59.98 ( 0.59)
55 4/ 3 MRl ED BE WAZEER 96 =3 28.75 1:00.01 ( 0.54)
b6 5/ 1 % 1 =@ BX 2 96 =3 29.20 1:00.02 ( 0.62)
57 347 ¥ LHA R A= 97 =3 28.73 1:00.05 ( 0.45)
58 32 F FE ik (= ARETE 97 =2 29.22 1:00.21 (0.57)
59 2/6 8 WU EEHF &KX EIESES 97 =2 29.67 1:00.23 ( 0.52)
60 2/1 E % &8 B— EHFHX 97 =2 29.07 1:00.27 ( 0.55)
61 2/3 5 B g >3 8B5S 98 =1 29.39 1:00.32 ( 0.53)
62 30\ E AW i EBER&R 98 =2 29.17 1:00.35 ( 0.58)
63 41 % B i =i BHER 98 = 28.85 1:00.41 ( 0.58)
64 2/5 11 A ##E BX AR 96 =3 29.52 1:00.54 ( 0.58)
65 2/2 15 B X% 1B N 97 =3 30.08 1:00.72 ( 0.59)
66 3/ 7T FMEL gy K E/IITE(S 97 =2 29.63 1:00.89 ( 0.63)
67 /3 & B A% KiE HER 97 =2 29.36 1:01.02 ( 0.63)
68 2/0 & %0 Al IEH =R ISE S 96 =3 29.34 1:01.19 ( 0.60)
69 2/ 8 dtimE M HiE FLIREA R 96 =3 29.93 1:01.34 ( 0.59)
70 /4 88 H FX X 5T 97 =2 29.92 1:01.83 ( 0.54)
n 1/5 dtiE& EH B EWFK 97 =3 29.71 1:01.92 ( 0.54)
72 2/ 1 dti#BE LHE ::: it R +aF5 97 =2 30.66 1:02.57 ( 0.56)
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